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The volume of the solid generated by rotating the region P
bounded the curves y = y/randy =0 from x =0 to z =1
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[Hint: Interpret the integral in terms of area]

(a) —-

V“\\, 5
5%
P
S Y
3




Math 102, Exam 1, Term 151

r 0 Smx (osx

sin(2x (
7. / ,_Tg.,..w_)h dr = \

sinx -t

Lanx

(a) 2sinz+C
(b) 2cosz+ C
(¢) z4sinx+C
(d) 2tanz +C

(e) 2(x —cosz)+C

{ = 5 iy
- (’;m%} L o =
. W
7

Page 4 of 10



Math 102, Exam I, Term 151 Page 5 of 10 m ASTER]
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13.

14.

Suppose f and g are integrable functions on
(—00,00) and that
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Which one of the following statements must be TRUE?
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19 The base of a solid is the region bounded by the curves
y =% and y = V. If the cross sections of the solid per-
pendicular to the z-axis are isosceles triangles of height
4, then the volume of the solid is (an isosceles triangle is
a triangle that has two sides of equal length)
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